Revision 4 – Variance 1
Question 1

You are employed as the assistant management accountant in the group accountant’s office of Hampstead plc. Hampstead recently acquired Finchley Ltd, a small company making a specialist product called the Alpha. Standard marginal costing is used by all the companies within the group and, from 1 August, Finchley Ltd will also be required to use standard marginal costing in its management reports. Part of your job is to manage the implementation of standard marginal costing at Finchley Ltd.
John Wade, the managing director of Finchley, is not clear how the change will help him as a manager. He has always found Finchley’s existing absorption costing system sufficient. By way of example, he shows you a summary of its management accounts for the three months to 31 May. These are reproduced below.
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John Wade is not convinced that standard marginal costing will help him to manage Finchley. ‘My current system tells me all I need to know,’ he said. ‘As you can see, we are £72 600 below budget which is really excellent given that we lost production as a result of a serious machine breakdown.’
To help John Wade understand the benefits of standard marginal costing, you agree to prepare a statement for the three months ended 31 May reconciling the standard cost of production to the actual cost of production.
Required:

(a)
Use the budget data to determine:
(i)
the standard marginal cost per Alpha; and

(ii)
the standard cost of actual Alpha production for the three months to 31 May.
(b)
Calculate the following variances:
(i)
material price variance;

(ii)
material usage variance;

(iii)
labour rate variance;

(iv)
labour efficiency variance;

(v)
fixed overhead expenditure variance.
(c)
Prepare a statement reconciling the actual cost of production to the standard cost of production.
Question 2
You are the management accountant of T plc. The following computer printout shows details relating to April:
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T plc uses a standard absorption costing system.

There was no opening or closing work-in-progress.
Required:

(a)
Prepare a statement which reconciles the budgeted profit with the actual profit for April, showing individual variances in as much detail as the above data permit.
(20 marks)
(b)
Explain briefly the possible causes of
(i)
the material usage variance;

(ii)
the labour rate variance; and

(iii)
the sales volume profit variance.
(6 marks)

(c)
Explain the meaning and relevance of interdependence of variances when reporting to managers.
(4 marks)



(Total 30 marks)
Question 3
The following profit reconciliation statement has been prepared by the management accountant of ABC Limited for March:
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The standard cost card for the company’s only product is as follows:
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The following information is also available:
1.
There was no change in the level of finished goods stock during the month.

2.
Budgeted production and sales volumes for March were equal.

3.
Stocks of materials, which are valued at standard price, decreased by 800 litres during the month.

4.
The actual labour rate was £0.28 lower than the standard hourly rate.
Required:

(a)
Calculate the following:
(i)
the actual production/sales volume;
(4 marks)

(ii)
the actual number of hours worked;
(4 marks)

(iii)
the actual quantity of materials purchased;
(4 marks)

(iv)
the actual variable overhead cost incurred;
(2 marks)

(v)
the actual fixed overhead cost incurred.
(2 marks)
(b)
ABC Limited uses a standard costing system whereas other organizations use a system of budgetary control. Explain the reasons why a system of budgetary control is often preferred to the use of standard costing in non-manufacturing environments.
(9 marks)



(Total 25 marks)
Question 4
A factory is planning to produce and sell 8000 units of product P during the next 4-week operating period.
Its standard product unit and total costs are as follows:
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Total overhead expenditure amounted to £49 000 of which variable overhead was £2150.
Required:
(a)
produce an Operating Control Statement which analyses the budget: actual comparisons for the four-week period;
(7 marks)
(b)
arrange the results you have produced in a way which will improve management’s understanding and interpretation of their meaning, explaining the basis of the presentation you have adopted.
(8 marks)
Question 5
Mermus is comparing budget and actual data for the last three months.
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The budget was prepared on the basis of 95,000 units produced and sold, but actual production and sales for the three-month period were 90,000 units.
Mermus uses standard costing and absorbs fixed production overheads on a machine hour basis. A total of 28,500 standard machine hours were budgeted. A total of 27,200 machine hours were actually used in the three-month period.
Required:
(a)
Prepare a revised budget at the new level of activity using a flexible budgeting approach and briefly explain why such a revised budget should be prepared.


(6 marks)
(b)
Calculate the following.
(i)
Raw material total cost variance;

(ii)
Direct labour total cost variance;

(iii)
Fixed overhead efficiency variance;

(iv)
Fixed overhead capacity variance;

(v)
Fixed overhead expenditure variance.
(8 marks)
(c)
Suggest possible explanations for the following variances.
(i)
Raw materials total cost variance;

(ii)
Fixed overhead efficiency variance;

(iii)
Fixed overhead expenditure variance.
(6 marks)


(Total 20 marks)

Question 6

Ash plc recorded the following actual results for Product RS8 for the last month:
	Product RS8
	2,100 units produced and sold for £14.50 per unit

	Direct material M3
	1,050 kg costing £1,680

	Direct material M7
	1,470 kg costing £2,793

	Direct labour
	525 hours costing £3,675

	Variable production overhead
	£1,260

	Fixed production overhead
	£4,725


Standard selling price and cost data for one unit of Product RS8 is as follows.

	Selling price

	£15.00

	Direct material M3
	0.6 kg at £1.55 per kg

	Direct material M7
	0.68 kg at £1.75 per kg

	Direct labour
	14 minutes at £7.20 per direct labour hour

	Variable production overhead
	£2.10 per direct labour hour

	Fixed production overhead
	£9.00 per direct labour hour


At the start of the last month, 497 standard labour hours were budgeted for production of Product RS8. No stocks of raw materials are held. All production of Product RS8 is sold immediately to a single customer under a just-in-time agreement.
Required:

(a)
an operating statement that reconciles budgeted profit with actual profit for Product RS8 for the last month. You should calculate variances in as much detail as allowed by the information provided.
(17 marks)
(b)
Discuss how the operating statement you have produced can assist managers in:
(i)
controlling variable costs;

(ii)
controlling fixed production overhead costs.
(8 marks)


(25 marks)
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